
University of Mississippi University of Mississippi 

eGrove eGrove 

Haskins and Sells Publications Deloitte Collection 

1927 

Amortization of discount on serial bonds Amortization of discount on serial bonds 

Anonymous 

Follow this and additional works at: https://egrove.olemiss.edu/dl_hs 

 Part of the Accounting Commons, and the Taxation Commons 

Recommended Citation Recommended Citation 
Haskins & Sells Bulletin, Vol. 10, no. 06 (1927 June), p. 44-46 

This Article is brought to you for free and open access by the Deloitte Collection at eGrove. It has been accepted for 
inclusion in Haskins and Sells Publications by an authorized administrator of eGrove. For more information, please 
contact egrove@olemiss.edu. 

https://egrove.olemiss.edu/
https://egrove.olemiss.edu/dl_hs
https://egrove.olemiss.edu/deloitte
https://egrove.olemiss.edu/dl_hs?utm_source=egrove.olemiss.edu%2Fdl_hs%2F951&utm_medium=PDF&utm_campaign=PDFCoverPages
http://network.bepress.com/hgg/discipline/625?utm_source=egrove.olemiss.edu%2Fdl_hs%2F951&utm_medium=PDF&utm_campaign=PDFCoverPages
http://network.bepress.com/hgg/discipline/643?utm_source=egrove.olemiss.edu%2Fdl_hs%2F951&utm_medium=PDF&utm_campaign=PDFCoverPages
mailto:egrove@olemiss.edu


44 HASKINS & SELLS June 

Amortization of Discount on Serial Bonds 

BONDS issued originally at a discount 
exceed in number by far those issued 

otherwise. An increasing proportion of 
these bond issues contain a provision for 
their redemption on a serial basis. The 
accounting treatment of the bond discount 
on the books of the issuing company be­
comes a practical problem of amortization. 

Assume an issue of 5% bonds of $10,000,-
000 is to be floated, maturing serially 
during the succeeding ten-year period, and 
the investment house underwriting the 
bonds agrees to take over the entire issue 
at 90. In making an offer of 90 the invest­
ment house perhaps will allow five points 
for the estimated expenses of underwriting. 
The profit for underwriting will depend 
upon the price for which the bonds ulti­
mately are resold. A price of 98 perhaps 
would constitute sufficient spread between 
the original offer of 90 and the resale price 
to permit the investment house to realize a 
reasonable profit for underwriting the issue. 

The issuing company will be faced with 
the problem of disposing of the $1,000,000 
bond discount. Two things are fairly 
certain about writing off the discount: 
(1) it is not necessary for the company to 
write off the entire discount in the year in 
which the bonds originally are issued; 
(2) the discount should be written off 
entirely by the time the last bond matures. 

Evidently the $1,000,000 discount is to be 
amortized in some way over the life of the 
bonds, ten years. There are several 
methods which may be presented for con­
sideration. 

Probably the simplest method for writing 
off the discount is the straight-line, or 
equal-instalment, method. The total dis­
count is prorated over the entire number of 
years that the bonds will be outstanding. 
In this case the discount would be written 
off at the rate of $100,000 per year for the 
ten-year period. This method provides 
for the distribution of the discount expense 
equally over the life of the bonds. It does 
not take into consideration the fact that 
the bonds outstanding during the early 
years constitute a much greater amount 
than the bonds outstanding during the 
later years. If the bonds are being pur­
chased in the open market and the dis­
count applicable to bonds purchased by 
the company during any year should ex­
ceed the straight-line amortization, then 
the larger figure would be used. 

Care should be taken in wording the 
provision for writing off the discount in 
case bonds are purchased annually in the 
open market and retired through a sinking 
fund. The provision may stipulate that 
all the discount should be written off on the 
bonds as they are retired through the 



Bulletin HASKINS & SELLS 45 

sinking fund with the expectation of 
retiring approximately one-tenth each year. 
The discount to be written off would be 
substantially the same as the straight-line 
method discussed above provided one-
tenth or more of the bonds are purchased 
each year. However, to go to the extreme, 
payments might be made regularly to the 
sinking fund, but no bonds purchased until 
maturity in the tenth year. The entire 
discount then would have to be written 
off in the tenth year. 

A variation of the straight-line method 
which recognizes the decreasing amount of 
bonds outstanding is to amortize the dis­
count on a straight-line basis increased by 
the entire discount on bonds retired 
through the sinking fund. The discount 
left unamortized would represent the re­
maining portion of discount applicable to 
the bonds outstanding. The charges 
would be large during the early years, 
reducing gradually to small charges to­
ward the end of the period. In case one-
tenth of the $10,000,000 bond issue was 
retired each year the discount to be written 
off the first year would be one-tenth of the 
total discount, or $100,000 plus the entire 
discount remaining on the $1,000,000 bonds 
retired the first year, or $90,000, making a 
total of $190,000. The amounts to be 
amortized would be $20,000 less each year 
until the tenth year when the amount 
would be $10,000, representing one-tenth 
of the $100,000 discount applicable to the 
bonds of $1,000,000 par value retired in the 
tenth year. This method may be used 
when the amounts to be retired each year 
are not ascertainable in advance. 

Another arithmetical procedure for writ­
ing off bond discount is to amortize the 
discount by applying the straight-line 
principle to each year's portion of the 
series of bonds. The discount applicable 
to the bonds maturing the first year would 
be written off entirely in the first year; the 
discount applicable to the bonds maturing 
the second year would be prorated over 
two years, and so forth, the discount on 

the bonds maturing the tenth year being 
prorated over the ten-year period. This 
method presupposes that the bonds will 
mature or be retired on a definitely known 
schedule. The charges will be very high 
during the early years and the discount 
written off more rapidly than by any of 
the other methods under consideration. 
In the case of the $10,000,000 bond issue, 
$1,000,000 maturing annually, the discount 
to be amortized the first year would be 
$292,896.82; second year, $192,896.82; 
third, $142,896.82; . . .eighth, $33,611.11; 
ninth, $21,111.11, and the tenth year, 
$10,000. 

Two methods which are used quite 
commonly are the scientific amortization 
method and the bonds outstanding method. 
Both of these methods require that the 
amounts to be retired each year be known 
in advance. The scientific method assumes 
that the original discount is entirely an 
adjustment of the rate of interest. Under 
this method the discount is amortized over 
the term of years in such a manner that the 
nominal interest on the bonds plus the dis­
count amortized each year is equivalent to 
the effective interest on the amount of 
principal available. The result is that the 
financial costs connected with the bond 
issue are distributed so that the charges 
each year are a constant percentage of the 
funds available that year. The amortiza­
tion of the discount on the scientific basis is 
not as rapid as under the bonds outstanding 
or some of the other arithmetical methods. 
This is because the arithmetical methods 
do not give consideration to the fact that, 
from a compound interest point of view, 
the later the bonds mature the greater is 
the discount thereon. 

The bonds outstanding method provides 
for amortizing the discount in proportion 
to the par value of bonds outstanding each 
year. Using the same illustration of the 
$10,000,000 bond issue maturing serially 
over a period of ten years, there would be 
a par value of $10,000,000 outstanding the 
first year, $9,000,000 the second year, 
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$8,000,000 the third, and so on, the total 
being equivalent to $55,000,000 outstand­
ing for one year. The discount would be 
written off 10/55 the first year, 9/55 the 
second year, 8/55 the third, and so forth, 
for the entire ten-year period. In this 
instance the $1,000,000 discount would be 
amortized $181,818.18 the first year, $163,-
636.36 the second year, $145,454.55 the 
third, . . . $36,363.64 the ninth, and 
$18,181.82 the tenth year. 

One would hesitate to say that any 
particular method of amortizing bond dis­
count should be used in every instance to 

the exclusion of all other methods. The 
straight-line method obviously is inappro­
priate for serial bonds. The scientific 
method is logical for the purpose it 
achieves, but the calculations under this 
method are upset if bonds are retired ahead 
of the schedule planned. Probably the 
most practical procedure is to apply the 
bonds outstanding method. This method 
may be applied with little difficulty; it is 
readily susceptible to adjustment should 
any change be made in the schedule of 
retirements; and it is conservative at all 
times. 
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